INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. (D), (F), (H), (I), & (K) should be entered in

items 17 & 18 of OMB 83-1. For cols. (E), (F), & (J), the averages of the totals shall be computed, as follows, and then entered on the OMB 83-1.

(F) Total/Total = (E) Average (H) Total/(F) Total = (G) Average (K)
Total/(I) Total = (J) Average (N)
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Tart Cherries Grown in the States of Michigan, New York, Pennsylvania, Oregon, Utah, Washington, and Wisconsin, Marketing Order No. 930

0581-0177

OMB NO.

DATE PREPARED

June 30, 2016

| | | | | | | | | Julie 3 | 0, 2010 | |
|------------------|--|---|-----------------------|---|---|--------------------------|--------------------------------|------------------------------|--|--|
| IDENTIFIC | | | | | | | | | | |
| | | | | | REPORTS | RECORDS | | | | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER RESPONDENT | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- KEEPER | TOTAL RECORD- KEEPING HOURS (Col. I x J) |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (1) | (J) | (K) |
| 900.14 930.83 | Producers Referendum Ballot (Amendment and Termination) | SC-43 | 600 | 0.1667 | 100.00 | 0.3300 | 33.00 | | | 0.00 |
| 900.14 930.83 | Cooperative Association of Producers Referendum Ballot (Amendment and Termination) | SC-43A | 10 | 0.1667 | 1.67 | 0.3300 | 0.55 | | | 0.00 |
| 900.14 930.83 | Processor's Referendum Ballot (Amendment and Termination) | SC-44 | 40 | 0.1667 | 6.67 | 0.3300 | 2.20 | | | 0.00 |
| 900.14 | Marketing Agreement | SC-45 | 40 | 0.1667 | 6.67 | 0.1300 | 0.87 | | | 0.00 |
| 900.14 | Certificate of Resolution | SC-45A | 40 | 0.1667 | 6.67 | 0.0830 | 0.55 | | | 0.00 |
| 930.26 | Background/Acceptance Statement (Producer and Handler Member/Alternate) | SC-46 | 34 | 0.3333 | 11.33 | 0.0830 | 0.94 | | | 0.00 |
| 930.26 | Background/Acceptance Statement (Public Member/Alternate) | SC-47 | 2 | 0.3333 | 0.67 | 0.0830 | 0.06 | | | 0.00 |
| 930.23 | Nomination Petition Forms | SC-48 | 640 | 0.3333 | 213.33 | 0.3300 | 70.40 | | | 0.00 |
| 930.23 | Nomination Ballot | SC-49 | 640 | 0.3333 | 213.33 | 0.1670 | 35.63 | | | 0.00 |
| | SUBTOTAL | | | | 560.33 | 0.2073 | 144 | 0.00 | | 0.00 |
| | TOTAL OF ALL PAGES | 5 | | | 3,270.33 | 0.2224 | 740.66 | 0.00 | | 0.00 |
| тот | TOTAL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c | | | | 3,270.33 | | 741 | | | |

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. (D), (F), (H), (I), & (K) should be entered in

items 17 & 18 of OMB 83-1. For cols. (E), (F), & (J), the averages of the totals shall be computed, as follows, and then entered on the OMB 83-1.

(F) Total/Total = (E) Average (H) Total/(F) Total = (G) Average (K)
Total/(I) Total = (J) Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Tart Cherries Grown in the States of Michigan, New York, Pennsylvania, Oregon, Utah, Washington, and Wisconsin, Marketing Order No. 930

ОМВ NO. 0581-0177

201-01//

DATE PREPARED

June 30, 2016

| | | | | | | | | | ounc o | -, | |
|---------------------|---|-------------------------------------|-----------------------|--------------------------------|---|--------------------------|--------------------------------|------------------------------|---------------------------------|--|--|
| IDENTIFI | ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT | | ANNUAL BURDEN | | | | | | | | |
| | | | | | REPORTS | | | | RECORDS | | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER RESPONDENT | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- KEEPER | TOTAL RECORD- KEEPING HOURS (Col. I x J) | |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (I) | (J) | (K) | |
| 930.70(a) | Weekly Raw Product Report | CIAB 1 | 40 | 14.0000 | 560.00 | 0.2500 | 140.00 | | | 0.00 | |
| 930.70(a) | Cherries Acquired from Producers | CIAB 2 | 40 | 1.0000 | 40.00 | 0.2500 | 10.00 | | | 0.00 | |
| 930.70(a) | Sales/Inventory Report | CIAB 3 | 40 | 4.0000 | 160.00 | 0.4160 | 66.56 | | | 0.00 | |
| 930.70(b) | Report of Export Sales Activity | CIAB 3A | 40 | 1.0000 | 40.00 | 0.0830 | 3.32 | | | 0.00 | |
| 930.70(a) | Handler Reserve Plan and Final Pack Report | CIAB 4 | 40 | 1.0000 | 40.00 | 0.2500 | 10.00 | | | 0.00 | |
| 930.70(a) | Inventory Reserve Summary | CIAB 5A | 40 | 14.0000 | 560.00 | 0.2500 | 140.00 | | | 0.00 | |
| 930.70(b) | Inventory Location Report | CIAB 5B | 40 | 15.0000 | 600.00 | 0.1660 | 99.60 | | | 0.00 | |
| 930.58(c) | Tart Cherry Orchard Map and Grower Diversion Application | CIAB 6 (formerly no form no.) | 600 | 1.0000 | 600.00 | 0.1660 | 99.60 | | | 0.00 | |

| | SUBTOTAL | | | 2,600.00 | 0.2289 | 569 | 0 | 0 | |
|--|----------|---|---|----------|--------|-----|---|-----|---|
| | | l | l | _, | 0.220 | | · | 1 ~ | 1 |

SUMMARY OF INFORMATION COLLECTION USDA-AMS

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. (D), (F), (H), (I), & (K) should be entered in items 17 & 18 of OMB 83-1. For cols. (E), (F), & (J), the averages of the totals shall be computed, as follows, and then entered on the OMB 83-1.

(F) Total/Total = (E) Average (H) Total/(F) Total = (G) Average (K)

Total/(I) Total = (J) Average (H) Total/(F) Total = (G) Average (K)

something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Tart Cherries Grown in the States of Michigan, New York, Pennsylvania, Oregon, Utah, Washington, and Wisconsin, Marketing Order No. 930

DATE PREPARED

June 30, 2016

| IDENTIFIC | CATION OF REPORTING OR RECORDKEEPING REQUIREMENT | | ANNUAL BURDEN | | | | | | | | |
|-----------------------|---|-------------------------|---------------|--------------------|------------------------|--------------|----------------|-------------------|---------------------|-------------------------------|--|
| | | | | REPORTS | | | | RECORDS | | | |
| SECTION OF | DESCRIPTION | FORMS NO (S) (If "none" | NO. OF | NO OF RESPONSES | TOTAL ANNUAL RESPONSES | HOURS PER | TOTAL HOURS | NO. OF RECORD- | ANNUAL HOURS PER | TOTAL RECORD- KEEPING HOURS | |
| REGS. | | so state) | | PER RESPONDENT | (Col. D x E) | RESPONSE | (Col. F x G) | KEEPERS | RECORD- KEEPER | (Col. I x J) | |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (1) | (J) | (K) | |
| 930.59, 930.162(c) | New Market Application for Handlers | CIAB 7 | 40 | 1.0000 | 40.00 | 0.3300 | 13.20 | | | 0.00 | |
| 930.70(b) | Producer List for Referendum | No form number | 40 | 1.0000 | 40.00 | 0.3300 | 13.20 | | | 0.00 | |
| 930.70(b) | Memorandum of Agreement between Handlers Regarding Responsibilities for Tart Cherry Production under the Marketing Order for Red Tart Cherries | No form number | 10 | 3.0000 | 30.00 | 0.0330 | 0.99 | | | 0.00 | |
| | SUBTOTAL | | | | 110.00 | 0.2310 | 27.39 | 0 | | 0.00 | |

SUMMARY OF INFORMATION COLLECTION USDA-AMS